E

D=

fan

AT RIRSF X E

=X

i

IE

xR

S=1:500

X=—144650

00EEG=A

%

:

X=-144700

X=—144750

X=-144800

X=—144850

KR ESRE A = X

PRE S=1:250

[=]
~
™~
o
N 1527
R ™ 139293 me”
)
214.21 o *
5
1.773
1.575 772‘8
Sy
ig,

YNE]

1894.02 nf &

Qf

o/

T 865
5.998

1512
2505.00 ni

29. 991

itk
1513
2648.18 nf

6..007 N

» 9
— : @, 806 o
o, 1.
é 0; \36
© S.
408 3
2.
— R5~1
o0 o 1549
AL ‘@ 201.09 nmi
Q ()
)}
Y 16?’
9
oL
2L 5 15;5«

g e
(o]
Y- Yol
pog s}
NGy <:>
| 8& 1540
EN 284.12

1539
149.06 nf

28. 582

X=—-144650

JERKE S=1:250

X=—144700

X=—144750
#RKE S=1:100
X=—144800
X=—144850

B X 4 HAETREAFIHMREEBRESX
£ K TR 24 & E
B & 4 HERERNER

1 1
e R 500 Sl 1
E¥IH BHAETRERFIGBMEEEEMES
HEE =BAMEHZFEHKEXS A

00€EG=A

0SEEG=A

00reES=A

>l RENERF S WIS



